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QUESTION 1

What is the correct path to verify the Overall Status of Chassis 1 | Server 3?
A. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 Status tab
B. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 General tab
C. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 FSM tab

D. Servers Tab > Chassis > Server 3 General tab

E. Status Tab > Chassis > Chassis 1 > Servers > Server 3

F. Admin Tab > Chassis > Chassis 1 > Servers > Server 3 General tab

Correct Answer: B

QUESTION 2

Which two statements are true about system controllers of Cisco Nexus 9500 Series? (Choose two.)
A. They provide centralized arbitration to the system fabric for all line cards.

B. They control the Layer 2 and Layer 3 services.

C. The Cisco Nexus 9500 Series switch software, Enhanced NX-OS, runs on the system controllers.

D. They are used to o oad the internal non-data-path switching and management functions from the supervisor
engines.

E. The Cisco Nexus 9500 Series supports redundant system controllers.
Correct Answer: DE

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-series-switches/white-paper-
€11-729987.html

QUESTION 3

Which two Cisco Nexus switches provide the foundation of the Cisco Application Centric Infrastructure? (Choose two.)
A. Cisco Nexus 7718 switch

B. Cisco Nexus 9508 switch

C. Cisco Nexus 7710 switch

D. Cisco Nexus 93128TX switch
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E. Cisco Nexus 6004 switch

Correct Answer: BD

QUESTION 4

What are two common steps to troubleshooting a rack server with unrecognized or memory errors? (Choose two.)
A. Ensure DIMMs are installed in correct slots

B. Check CPU sockets for bent pins

C. Check that the AC power cord is OK

D. Reseat DIMMs

E. Check the front I/0O cable connection to the motherboard

Correct Answer: AD

Reference: https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/c/ts/guide/b_C-
Series_Troubleshooting_Guide.pdf page 11

QUESTION 5

Which fiber optic cable type is used most often with a Subscriber connector?
A. dual-mode

B. single-mode

C. straight-mode

D. multi-mode

E. subscriber-mode

Correct Answer: B
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